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12222

11222 12122 12212 12221

11122 11212 11221 12112 12121 12211

11112 11121 11211 12111

The Stirling poset of the second kind ⇧(5, 2).
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12333

12233 12323 12332

11233 12223 12232 12313 12322 1233112133

11223 11232 12123 12213 12231 12312 1232112132

11123 11213 11231 12113 12131 12311
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The Stirling poset of the second kind ⇧(5, 2).
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The decomposition.

The weight of the poset is 1 + (1 + q) + (1 + q)2 + (1 + q)3.
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The matching.
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Find a subset Q(n� 1, n� k) of P (n� 1, n� k):
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Consider a checkerboard coloring
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q2 q2(1 + q) (1 + q)2 (1 + q) (1 + q)

Computing the q-Stirling number of the first kind cq[4, 2] using Q(4, 2).
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